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BE—E ($M4E2A208LF)
SE1 FEIP T % S
2 SERBRAREE 0BEIE. BEDICRISERA E 2,

HS F4 £l BEE#CELD) AEIR FAEH (E2) 23S Bz
8130  |30f% S5 BRREFREN HY (BETIEAEW) 2H158 »HY SHE
8131  |20f% 7k BREREFTERN HY (BETIEAEL) 2H18H - Ean|
8132 Q0 L %tk BRREFREN HY (BETIEAEW) 2A15H - L
8133 801K 7k KT HY (BETIEAEW) 2H11H &Y L
8134  |80f% 7 Ky EAER 2H18H »HY mL
8135 104€ 7k BRREREN EAER 2H18H Y mL
8136  |30f% S BREREFTERN EAER 2H18H »HY NHE
8137 10K | B BRREREN EAER 2H14H Y mL
8138 10mFom |51 BREREFTERN HY (BETIEAEW) 2H148 »HY mL
8139 10m A0 |t BRREFREN HY (BETIEEW) 2H148 »HY mL
8140  [30f% s BRREFTERN HY (BETIEAEW) 2R17H »HY BileN:id ]
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&S R R EE#CEL) FER FAEB (F2) AR e
8141  |204% B BRREREN HY (BETEARL) 2R 16H »Y) E=vag=|
8142  |40f% S5 IR HY (BETIEAEW) 2A17H - Egan=
8143 408 peq L3 BRREFREN HY (BETEARL) 2R 18H »Y) 58
8144  |10mkih |k BRREFERN HY (BETIEAEW) 2A18H - L
8145  |104% B SR RERREN HY (BETEARL) 2R 18H HY L
8146  |20f% peq L BRREAEN HY (BETIEARL) 2A15A HY (B - REMERLD BilENE=]
8147  |104% B SR RERREN HY (BETEARL) 2R 16H HY (F140) L
8148  |50f% i BRREFEN HY (BETIEAEW) 2A18H HY iz =]
8149  |30#% B B R N HY (BETEARL) 2R17H - E=vag=|
8150  [|30#% peq BRREEN HY (BETIEARWL) 2A18H - L
8151  |10mikid (B BRREMEN HY (BETEARL) 2A15H - L
8152 |10#% B BRREREN HY (BETIEARW) 2R17H HY 1L
8153  |204% poq L FRET HY (BETEARL) 2R 14H HY L
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8154  [30f% Bt B HY (BEETEARL) 2R 18H - EilzN 3=}
8155  [20f% B ERHET HY (BFETIEARL) 2A17H - N =]
8156  [10f% S BRREFTEAN HY (BETIEAEW) 2R 18H - L
8157  |10f% peqid 8 R EFTE P HY (BEEETEARL) 2B17H - #L
8158  |[50f% B EIR™ HY (BETIEAEW) 2R 148 - Ergan=|
8159  [10f% B4 & HY (BEEETEARLW) 2B 19A - #L
8160 104X St IR HY (BETIEAW) 2817H - L
8161  |30f% peqis BRREFAEA HY (EETIEHRL) 2H18H - e NS
8162 |10t B R ERRIEFTE HY (FEETEARL) 2B 16H HY (F40) #L
8163  [40f% B b HY (BEEETEARW) 2RA17H HY #BL
8164  |30f% pogis = laly o} HY (BETIEAEW) 2A17H HY (FR40) BEX
8165 101X St el ) HY (EETIEHRL) 2817H HY 7wl
8166  |10f% B FERRBFTE RN HY (BETIEAEW) 2A17H HY (F40) mL
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&S R R EE#CEL) FER FAEB (F2) AR e
8167  |204% B x|l HY (BEETEARL) 2R17H - E=vag=|
8168 101X St el HY (EETIERL) 2A15H HY L
8169  [|30#% B ftEm HY (BETEARL) 2A11H »Y) HEz
8170  |60f% i b(Z= i} HY (BETIEAEW) 2A17H HY mL
8171  |204% B E(Zn HY (BETEARL) 2R17H HY) (ZFE—VEHH10) L
8172  |lOomkih | &k bk HY (BETIEAEW) 2A17H HY mL
8173 |104% eqca hERRIEFTE N HY (BETEARL) 2R 15H HY L
8174  |10mkih |1k REMREEFTE W HY (BETEEW) 2A16H HY) L
8175  |10mkid &M REMREEATE N HY (BETEARL) 2R 12H HY L
8176  |10mkid (B AR AT E N HY (BETIEARWL) 2A17H »Y) L
8177  |10mkih |k HEMREEFTE W HY (BETIEAEW) 2A18H HY L
8178  |10mEkit & AR AT E W HY (BETIEARW) 2R 18H HY 1L
8179 101X S Jttm HY (EFETIEHRL) 2A16H HY L
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
8180 104€ 7k bt HY (BETEAEW) 2R17H »HY mL
8181 1018 7k hERREFTE RN HY (BETIEAEL) 2R17H HY (F840) mL
8182 104€ S5 bt HY (BETEAEW) 2H15H HY (F840) wL
8183 1018 S el =) HY (BETIEAEL) 2R17H - mL
8184 104K S5 hERREFERN HY (BETIEAEW) 2H16H HY (F840) mL
8185 1018 S L&Em HY (BETIEAEL) 2H18H oY mL
8186 104K S5 L& HY (BETIEAEW) 2R17H - mL
8187 104€ 7k L&Em HY (BETIEEW) 2R17H &Y mL
8188 104K S L& HY (BETIEAEW) 2H15H HY (F840) mL
8189 10K | &t PEREFTEN HY (BETEEW) 2R17H - mL
8190  [20f% g kLt HY (BETIEAEW) 2R17H &Y mL
8191  |40f% S PEMREFTEN HY (BETEAEW) 2H16H &Y SHE
8192 204€ 54 L& HY (BETIEAEW) 2R17H »HY Egan=|
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8193  [40f% CEs &M HY (BETIEEW) 2R 16H HY) Ergan=|
8194  |10f% B ft5m HY (BETIEAEW) 2A16H HY (FR40) mL
8195  [40f% geqi3 S| l=hs HY (EETIRAEL) 2A17H - Bl
8196  [50f% B4 b HY (BEEETEARL) 2A16H HY HL
8197  |10#% eqca et HY (BEETEARL) 2B 18AH HY) L
8198  [30f% peqis PEMRIEFTE A HY (BIETIEEW) 2B17H HY E=yan—|
8199  |10f% B et HY (BEETEARL) 2B 18AH HY) L
8200  |10f% Bk FERRIERTE HY (BEEETEARW) 2RA17H HY #BL
8201  [40f% B bt HY (BETIEAEW) 2R17H HY) frgan=|
8202 10m R | B HRERERIERTE N HY (EETIEHRL) 2H18H HY L
8203  |10mikid (B R ERRIEFTE HY (FFETEARL) 2B17AH HY) #L
8204  |10mkim |&ME &M HY (BETEEWL) 2R 18H HY (HE - REMR20) L
8205  |10mikid (B e HY (BFETIEARL) 2B 18H HY L
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8206  |104% Bt (Znt HY (BEETEARL) 2R 18H HY (F#40) il

8207  |30f% 7% ft5m HY (BETIEAW) 2A17H HY (HE - REMER20) E=yan |

8208  [40f% S %=l HY (BETIEAEW) 2R 18H HY) Eani g

8209 |40t peqid (20 HY (BEEETEARL) 2A16H »Y) NR—h g A <—
8210  |104% eqca E(Zn HY (BEETEARL) 2R 16H HY) L

8211 |30k g bk HY (BETIEAEW) 28178 HY mL

8212 10mRim | S HEBRIEFTE N AR 2F18H HY 7w L

8213 |604% geqid b HY (BEEETEARW) 2A17H »Y) #BL

8214  |10#% B (Zn HY (FEETEARL) 2R17H HY (F140) #L

8215 |50k i b(Z= i) HY (BETEEW) 2A16H - L

8216  |10#% eqcd (20T HY (FFETEARL) 2RA17H HY) #L

8217  |60f% St &M HY (BETEEWL) 2A15H - SifzN3=]

8218  [40f% S EEm HY (BIETIEAEW) 2R 18H HY (B - REMXR20) BE%
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HS FH TR BE#CED FEIR FIEHCE2) B EHES
8219  |10mkm |&iE tEm HY (BETIEEW) 2R17H HY (HE - REMR20) L
8220 101X St el HY (EETIERL) 2A16H HY L
8221  |10#% B ftEm HY (BEETEARL) 2R 16H HlY) (ZKE—VEH10) HL
8222  [20f% S b(Z= i} HY (BETIEAEW) 2A16H HY (RE—VEH0) L
8223  |10f% S t&Em HY (BETIEAEW) 2R 15H HlY) (RR—VEEL0) 7w L
8224  [10f% S bZ= i} HY (BETIEAEW) 2A16H HY (RE—VEH0) L
8225 101% S t&Em HY (BETIEAEW) 2R 15H HlY) (RR—VEEL0) 7w L
8226  [20f% C2Ris b(Z= i) HY (BETEEW) 2A17H HY (RKR—VEHIL0) L
8227  |20#% B (Zn HY (FEETEARL) 2R 16H HY) (ZFE—VEHH10) #L
8228 |10k C2Ris b(Z= i) HY (BETEEW) 2A17H HY (RKR—VEHIL0) L
8229  |20f% B ft5H HY (BETIEAEW) 2A16H HY (XR—VEENO) mL
8230  [|20f% B E(E= i HY (BETIEARW) 2R17H HlY (ZKR—VEH10) L
8231  |20f% B ft5H HY (BETIEAEW) 2A16H HY (XR—VEENO) mL
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8232 |10#% goq3 (Znt HY (BEETEARL) 2R17H HlY) (ZFE—VEH10) il

8233  |10f% 7% ft5m HY (BETIEAEW) 2A17H HY (ZR—VEENO) mL

8234  |10f% S %=l HY (BETIEAEW) 2R 148 - =8

8235  |20% peqid (20 HY (BEEETEARL) 2A17H »Y) EilzNd=}

8236  [30f% g t&Em HY (BETIEAEW) 2R 16H HY) NS

8237  |40%% peqid (20 HY (BEEETEARLW) 2A16H - NR—h g A <—
8238  [30f% S HEBRIEFTE N HY (BETIEAEW) 2F18H HY) Ergan=|

8239  |20% Bk (20 HY (BEEETEARW) 2A16H »Y) #BL

8240  [20f% i t&Em HY (BETIEAEW) 2R 16H HY) frgan=|

8241  |10mkih &k b(Z= i) HY (BETEEW) 2A17H HY) L

8242 10/ A |20 &M HY (BIETIEAEW) 2B17H HY (B - REM:XR20) 7L

8243  |40f% St B4 (REREFTER) HY (BETEEWL) 2A17H - =8

8244  |40f% 7 ks HY (BETIEAEW) 2R 158 - L
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8245  [20f% CEs HERERIERTE HY (BETIEEW) 2R 14H HY) B NS
8246  [10f% B4 e b HY (BFETIEARL) 2A18H HY (FH40) L
8247  |70#% Bt T HY (BEETEARL) 2B17RH HY) Bl
8248 501K St BN HY (BIETIEAEW) 2B17H HY E=yan—|
8249  |10f% 7 BMNREFTEN HY (BETIEAEW) 2R17H HY (FK40) 7w L
8250  [20f% peqid BNREATE W HY (BEEETEARLW) 2B17H HY HL
8251  |20f% pogis BA (RMNREATER) HY (BETIEAEW) 2A16H - mL
8252  |10f% geqid BN HY (BEEETEARW) 2RA17H HY #BL
8253 501% 7 BN HY (BETIEAEW) 2B 18H HY (HE - REMR26) SifzN3=]
8254  [80f% geqid BN HY (BEEETEARW) 2A16H HY #BL
8255 404X, i BN HY (EETIEHRL) 2A18H »HY) B N S
8256  |10mkim |BME BT R 2A19H HY L
8257 104% M BN AR 2B 19H &Y 7L

-10 -
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
8258  |60f% S5 BNREFTEA EAER 2H198 &Y BN
8259 1018 7k BN EAER 2H19H HY (F840) mL
8260  |20f% S5 W HY (BETEAEW) 2H198 &Y Eagan=|
8261 204€ 7k BN HY (BETIEAEL) 2H19H oY E=an|
8262 10mKom |51 W HY (BETIEAEW) 2H18H &Y mL
8263  [601% S &7 I ET EAER 2H19H oY SR E
8264  |60f% 7 BINREFTEA HY (BETIEAEW) 2H19H &Y /N—
8265 204K 7k BN HY (BETEEW) 2H18H HY (BB - REMER26) iz ]
8266  |40f% g W HY (BETIEAEW) 2H18H &Y NHE
8267  [40f% 7k BN HY (BETEEW) 2R17H &Y mL
8268 10w (&% W HY (BETIEAEW) 2H18H HY (KB - REMER26) mL
8269 10m A0 |t BRI HY (BETEAEW) 2H17H »HY mL
8270  [70f% Eegcd W HY (BETIEAEW) 2H19H »HY Egan=|
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HS FH TR BE#CED FEIR FIEHCE2) B EHES
8271  |10#% B ENRERTE A HY (BEETEARL) 2R 18H HY) HL
8272  |10f% B —Bam HY (BETIEAEW) 2A16H HY (F840) mL
8273 |104% B —Bm HY (BEETEARL) 2R 15H HY (F#40) HL
8274  [10f% i —Bh HY (BETIEAEW) 2A17H HY (F840) L
8275  |104% B —Bdm HY (BEETEARL) 2R 16H HY (F140) L
8276  [10f% i —Bh HY (BETIEAEW) 2A19H HY (F840) L
8277  |50f% S —BEREAEN HY (BETIEAEW) 2F18H HY (SEEMERS) 7w L
8278 501%, S —BEREMEA HY (EETIEHRL) 2H18H HY) (SinEMEES) E=yan—|
8279  |30f% i —BEREFEN HY (BETIEAEW) 2H18H HY (SEEMERL5) N—k
8280  |10f#% B —Em HY (BETIEARWL) 2A16H - L
8281  |40#% B —Bh HY (FFETEARL) 2A15R - E=vag=|
8282  |90m AL |ZME —EREFEN HY (BETEEWL) 2A19H HY T L
8283 |10 (B —Bm HY (BFETIEARL) 2RA17H - L
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
8284 100 |t —Bh HY (BETEAEW) 2H16H - mL
8285 104€ S —B™ HY (BETIEAEW) 2H18H - L
8286  |40f% 7k —Bh HY (BETIEAEW) 2R178 HY (EEMHEKRS) RNBE
8287  [80f% S —Bi HY (BETIEAEL) 2R19H HY (EEEKRL) mL
8288  |40f% 7 —BIH EAER 2H18H HY (EEMEKRS) NBE
8289 701X S —B™ R 2A18H &Y L
8290  |40f% S5 —BIREFTE N HY (BETIEAEW) 2R16H8 - Eagan=|
8291 301 7k —BEREFEN HY (BETEEW) 2A17H - iz =]
8292  |70f% S KA HY (BETIEAEW) 2H16H - mL
8293 104€ S BA (KAED) HY (BETEEW) 2H16H &Y mL
8294 10K | & =h™ HY (BETIEAEW) 2H19H HY (Fr42) mL
8295 10m A0 |t =Hm HY (BETEAEW) 2H19H HY (Fr42) mL
8296 1018 s EEREFERN HY (BETIEAEW) 2R17H &Y mL
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8297  |10M% 7% B (B&™) HY (BETEAEW) 2A18H HY mL
8298 601X peqis ARREFEN HY (EETIERL) 2B 18H HY (EBi540) E=yan—|
8299 |10mkim |BME ARREFTEAN HY (EFETIERL) 2R 18H HY L
8300 |10mkim |&ME ARGREFTEN HY (BIETIEAEW) 2B 19H - L
8301  [50f% 7 ARREFTEAN HY (BETIEAEW) 2F18H HY (Bi1540) E=gan-"|
8302  |40f% peqis ARGREFTEN HY (BIETIEEW) 2B17H HY (Bi540) E=yan—|
8303  |10M% B B (ARRRBTERN) HY (BETIEAEW) 2A16H HY (FR40) mL
8304  |30f% S AT HY (EETIEHRL) 2H18H - E=yan—|
8305  |20f% i B (ARRBITERN) HY (BETEAEW) 2A15H - mL
8306 601X 7 ARREMEN HY (EETIEHRL) 2H18H HY) (B%40) E=yan—|
8307 301% i ARREFTEN HY (EETIEHRL) 2B17H HY (Ei1540) =8
8308  [30f% Bk AZETH HY (EETIRERL) 2R17RH - N3
8309 601K i AR HY (EFETIEHRL) 2R17H HY (E1540) Ergan=|
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
8310  [40f% CEs ARRETEA AR 2F18H - Ergan=|

8311 |80t 7% iy HY (BETIEAEW) 2A18H HY (SEEERT) mL

8312 |10M% 7% BET (ZFRBFTERN) HY (BETEAEW) 2A10H HY mL

8313  [40f% pegis “FREFEA HY (BIETIEAEW) 2H18H HY (F’40) BEX

8314  [20f% 7 L2 N HY (BETIEAEW) 2A13H HY) Ergan=|
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